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. ax +bx+c=0
a 0 b2-4ac

A= c-a B=( b
a )

C= b
a D= 4

4
b - ac

a

E= 4b - ac
a

3.
x +4x-3=- x-
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ax +bx+c=0

x + b xa + c
a =0

  x + b xa =A

x + b xa +B=A+B
(x+C) =D

x+C=E
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(x+1)(4x-1)-3 4xy- x- y+1

x -11x+a
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7. a 1+
b=1+ -a

ax +(a-b+ )x-(a-1+ )b=0

x=- 1
3 x= 1

3
x=- 3 x= 3

x=- 3

. a b
ax -b=0 x
(y+b) +a= y

( )+a a b + b- -a b

7a-b -7a-3b
-7a+b a-3b
- a-b
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A B C

• D BC BAC
• E AC ABC

AB= AE= CE=
BD
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1.

ABCD
a

(x- )(x-1)- x=
  A -a + a  

  C 1
a +a

  B D
a - a4+ a3- a - a+4
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4. F y=- 1 x -1
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7. D y=(x+ )
E y=(x+ ) +q
A y=(x+ )
B y=(x-3)
C y=(x+ ) +q

AB X AC Y

BC= C
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30. ABCD
AD // EF // GH // BC AE=EG=GB

DF=FH=HC FL=JL JK=4

AGJL
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